[ Efficiency vs vertpos |

.................................................

..................................

HLAL L ﬁm.l..
10 107 ! TPlQ/ert r (cn%)02

—=— DQMstep3_TT_CKF

Effici —e— DQMstep3_TT_default
ICIeNd __,__ pQMstep3_TT_defaultNEWT20

~n 0.2
LT R R P R
n N N N N N
>0.16
>
2
90'14
3]
£0.12
(]
0.1
0.08
0.06
0.04
0.02

.................................................

FITT [T T[T T[T T[T TT[TTTITIT

F
S,

Ratio
P
iy

10 20 30
TP vert z (cm)

N 0.02r

20 -15 -10 - 0 5 10
Sim. PV z (cm)



	Contents
	Page 1


